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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 26544816743 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Effective teaching methods often encourage students to:

;’iafo-ig P ér:ge‘_’mm BBD egrgHHiomn 828 [gﬁﬁjﬂ_ﬁm.

Options :

Passively receive information

| Dgodore SEmmsEn EoSHng

Collaborate and share 1deas

5 PPN e8P SBei HoHE K

Focus solely on memorization
DOHRE0R JEPD BB
[+ B B [+5)

Take frequent breaks

4 % 55 Dorsndn B8

Question Number : 2 Question Id : 26544816744 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Individual differences in learners can be influenced by factors such as:
@e,}fgééje_}éﬁ B Doren 5 woTos’ (Hardso wdHseom:

a. Teaching style only
5o 30 SeEd
b.  Learning style preferences

@z 30 (rgrargen

& Socioeconomic background

iR 0% It

Options :

a and b only
a 508050 b Hoe(gad

1. %



b only

b s[5

b and ¢ only

b 50865 ¢ Hrladh

a.bandc

a. b 5083w ¢
4.

Question Number : 3 Question Id : 26544816745 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Qutdated textbooks and lack of access to relevant resources can be classified as
factors affecting teaching related to:

Fe55n (HerS563 5P0030H Sﬂvég.fg}gsﬂ&n, 230850 BBHS eother
ends® BEDFHE0 HoB woen % (Bod O’ Hoa0HoDHY:

Options:

Instructional facilities
IR B~
20y I gU‘gﬂ}

1. %
The teacher's subject matter expertise
- F5%D DHcrososd Saea50
The learner's motivation
CEALRSISSHY Blel
3. %
Support material
B5EDHHE DBBAHS
4.+

Question Number : 4 Question Id : 26544816746 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



Swayam Prabha. a platform that broadecasts educational content through TV
channels. 1s an example of:

xaholse, BD i) oo Doy VAEY BHrBodcintrH &i) gledaro
Reahold B a8 eueirte
Options:

Interactive online learning platform

HEB @8BS @grgd HOE

1. %
Off-line teaching method with no internet access
508385 SHore sHBS S8 HE
2. ¢ ¥
On-line learning platform requiring internet access
0605 @HB0 &) ©88S egrcd D6
e SO0 % o585 e
Collaborative learning environment requiring physical presence
g B8 I8 i8S H5FPchHE egrgd HogHtessn
4, %

Question Number : 5 Question Id : 26544816747 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which of the following statements BEST describes the advantage of using ICT-
based teaching support systems?

& 6D (Podes® 06  oprdd S éagéj écge‘_i)a GIAITR)) TPeP
ERNT DHB006.

Options :
They are universally effective for all learning styles and subjects.

_— @) ©grgRZenen, DRCTPOLH @) DEREEGRONT HNPDHHO

They eliminate the need for traditional resources like textbooks entirely.

aromgod st o0& Jolurdh Hdthen GnE) eidoed)) Frome
. Sohaxom.

3.¢



They offer increased engagement. accessibility. and diverse learning
materials.

©d) offorr JrEb, Fredko, DS e DABOHS e:Hb
Jarom.

They require minimal teacher preparation and expertise.

. 19 HEEHI8 Honobod éﬁlg 25839, SDeags @550 EOA Gotrow.

Question Number : 6 Question Id : 26544816748 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Positivism emphasizes research that 1s:

Fokred & BHS H88555% 3°8) Benhob:

Options :

Subjective and based on personal experiences

- @@D&iﬁ{ﬁ)@iﬁ, 358 engidon eprdhHt sotnod

Objective. measurable. and generalizable

DErS0, BosS KOASH, FrEdEBoSEASE

Focused on understanding individual perspectives
Ee tﬁ&%ﬁsmﬂm @NMPRH 3 eprddl Sotnob

Primarily qualitative i nature

4w @ nBore rherd)E Kgrdo Eed

Question Number : 7 Question Id : 26544816749 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The research question "What are the factors influencing student motivation?" 1s
more suited for a:

“HB8 S 28y dogd (28 [Hrdo Boin @odHnesD?” HJ8 B8
FSlatvd Yoty

Options :
1.4



Positivist approach with a quantitative survey

HBSeeE)E Fa’"cricgéﬁ JeroErersed aylaty

Post-positivist approach with focus groups and interviews

Seesten, mobdrgen 3 B S ATOTA 635% ﬁﬂﬁﬁgj‘% ajylatany

Both approaches could be used effectively
BotH cﬂej,éqj@vm ﬁé}gorﬁv &H@PA0BHLD D

Neither approach 1s suitable for this question

. & HHH @ GE)ESr S8 5ot

Question Number : 8 Question Id : 26544816750 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Quantitative research relies on:

ﬁ&ﬁ}%ﬁé@é 588858 c‘?}ﬁ_g.g e tneEob:

Options :

Interviews. observations. and open-ended responses

B0ETgen, 58808, L5 Jork B85 0858560

Numerical data. surveys. and statistical analysis
Rogry Sarodim, :6?53';}::, Heaeol S)ﬁ;’xsa
2.

Studying historical documents and artifacts

m&@é@é Dlere, Ssepotre etidhido

Manipulating variables in a controlled setting

Qoo écg@@e SeoedHe ﬁ@gﬁ%ﬁS
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In-text citations and the reference list work together to:

388 ©dDpareD, (Pardde erdarod:

Options :

Contuse readers with multiple ways of referencing

2570 (Brss écée‘_é}mgﬁ SHdBeH KotshEo daron

Provide clear attribution of information and ideas

{;:— SErordsn, grdbe earthdeln oo Sarow
2.

Demonstrate the author's knowledge of referencing styles

85i80n Bened Ko@ofod BBond ermed)) (HH58)ron

Increase the word count of the thesis or article

5B8%5me HiesHm, @Qé&g &P Soredoggih Hodharon

Question Number : 10 Question Id : 26544816752 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Plagiarism 1s the act of using someone else's work or 1deas without proper
attribution. It's important to avoid plagiarism by:

Koty FEgam edre adthe 5 S grsded $8aHH eardod
Bom THE e & (HoddEgin & (Bob ool megoe Darbosto dmgyo:

Options :

Paraphrasing heavily without proper citation

. S 2858 BHome e aroe (DEoH DD

Using quotation marks only for direct quotes
Hesorr 8% BHXHT EBLD Hhen srEed
2. ®

Citing all sources you use. even for paraphrased ideas

- For(DE rHEos® DR, aréb ©f) Hdhed JHBozd



Rewriting the source in your own words without citation

BN Thowe K08 Hrred® S 8BA (raing

Sub-Section Number : 2
Sub-Section Id : 265448684
Question Shuffling Allowed : No

Question Id : 26544816753 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (11 to 15)
Question Label : Comprehension

Note : Answer the questions 11-15 by reading the following passage:

KE: (Bot) msxabd Ssirarbo agrdore 11-15 (e Sirgraren (@rohok.

The vale of the Esk 15 unrivaled. even i Scotland, for beauty and romantic interest. From its
source to where 1t enters the Firth of Forth, the little river winds its way past ancient castles
with their romantic legends. famed i poetry and song, and the picturesque homes of barons
and lairds. poets and philosophers, forming as it goes, with rocks and chiffs, tall trees and

overhanging vines. a bewildering succession of beautiful scenes.

It was to this charming valley that Walter Scott came. with his young wife. in the furst year of
their wedded life. A young man of imaginative and romantic temperament, though as yet
unknown to fame, he found the place an mspiration and delight. A pretty little cottage. with
thatched roof. and a garden commanding a beautiful view, made the home where many happy
summers were spent. This was at Lasswade. a village which took 1ts striking name from the
fact—let us hope it was a fact—that here a sturdy lass was wont to wade the stream. carrying

travelers on her back.—a ferry service sufficiently romantic to make up for its uncertainty.
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Sub questions

Question Number : 11 Question Id : 26544816754 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The author finds the beauty of the valley to be
BSoms e &°ch el g=log 'ﬁjﬁ”@ﬂv&tﬂl

Options :

Uninspiring

(28e8entiBcHH

Unimaginable

e PALI=S L TOTA A

Unparalleled

BO_IHHoDE
3. v

Uninteresting

4% eR8re HoLd

Question Number : 12 Question Id : 26544816755 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



The river flows past old castles that are famous for

& 360 Hoesd Bwerbore HHSrEHod @ HBE HH FrobH.

Options:

Wars and battles
dﬁ}]mge_n, EDBSETen

Passionate stories

8 DA Bfended
2.V

Architectural beauty
Jooes Jrotstso Bed

High walls

085 RPen
4, % =

Question Number : 13 Question Id : 26544816756 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Young Walter Scott showed traits of

s anﬂﬂﬁ] EJ‘DLJTEJ S B0 70 eferei xﬁrmemﬂiﬁj

Options :

Creativity and passion
ﬁammé&éé, VLY
1.+

Lacklustre and dreariness

PODDH, DEERH

Unintuitive and dispassion

@Déﬁgﬁﬁe}%lé &, é}é}&fﬁéﬁ}

Unimaginative and disinterestedness
€330 8a78, @arod



Question Number : 14 Question Id : 26544816757 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The name of the village, *Lasswade’ means

(&0 2 erDHIE @b
Options :

A pretty cottage

©oHd Hédo

1. %
The name of a ferry
2.8 B 2%
2. ®
The name of Scott’s home
S 4 ) 2ty S
- T8 ) H)sromdd
A girl who crossed the stream
seroTrdn e
4. v

Question Number : 15 Question Id : 26544816758 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

The author calls the story romantic because 1t 1s

SSomd © E58 Hormssn ©f JoH eTEB ©b.

Options :

Certain

&%&ée

1. %

Imaginative

E”IE'UGSFE_%D
2.9

Uninspiring

(28 EOAOS



Probable
Dogrsd EOAKH
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Question Number : 16 Question Id : 26544816759 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Non- verbal cues like maintaining eye-contact and nodding while listening lead to

é‘a@@’sg S Aeértiéo,Se &in)e) Hod @%ﬁ@é@é ardden € |180b B8
AT IoVIY

Options :

Inhospitable atmosphere

©35B80HBY rESBm0 Slejfast: el

Earning trust

Eéaﬁjééo éﬁ“otﬁéf.ﬁa

Mistrust
E»’aéaééo 5885 )

Unreceptive impression

©08B0oSN wiarabo EhhosH)

Question Number : 17 Question Id : 26544816760 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Due to . one 15 likely to commit more mistakes m an inter-cultural
communication.

Rodpse gy S5reros” QD JEpD Sgen B Hod kb

Options :
Prejudice

HarS0

1. %



Bias

| BES
2. %

Anxiety
085

Distress

S E v n)

Question Number : 18 Question Id : 26544816761 Question Type : MCQ Option Shuffling : No
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A positive student-teacher relationship fosters a environment in a
classroom.

rinEre ijgg—éﬁ“cﬁédﬁj Hodtso Dosrothe Hoid SEKaKeE & BNS
TERBR0 DBHH0b

Options:

Motivating
| @ (2020526

Disruptive

Dirdo DAY
2. %

Disturbing

~ goito EORT

3. %

Disconcerting
4 % SO eFslotn
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In a communication barriers can be easily resolved.

2.€ JoBd5ne? 5 BHS ©58ioren Hedforre BPBOoSH .

Options :

Social
arsieRy

Psychological

BT E

Physiological

. TOBE

Physical

> ee s

Question Number : 20 Question Id : 26544816763 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Instagram 1s an example of media.

BP0 BIHY SrgiEridd eoeirtes.

Options :
Digital

| % B80S

Social

2. v V8O

Electronic
5)&}[5;:‘{}
3. %

Traditional

4 % PONTPCD

Question Number : 21 Question Id : 26544816764 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes
Correct Marks : 2 Wrong Marks : 0

A’s mother’s daughter’s only sister-in-law related A 1s 7
A By S8 Z0:r0 TBwdy 3% E%end A o Ho20BHd0?

Options :
Cousin

EaS
1. %

Sister

B lats

Sister-in-law

56%/t55en
g

Niece

. DHE%%en

Question Number : 22 Question Id : 26544816765 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Find the wrong number mn the series: 12, 31, 72, 95, 114, 131, 144,
[Baoso: 12, 31, 72, 95, 114, 131, 144. &' 653 Hopso EoFbod:

Options :

Question Number : 23 Question Id : 26544816766 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

The ratio of the number of married employees and unmarried employees in an office is
5:7. Which of the following cannot be the number of employees mn 1t?

b ] @ W J o : o,
5O 0008 Darerd &S hen ok edarard &a5he Dop; e 5:7. 808
=5 - . o - e
735 08 &80 Do SoGErd Gy

Options :

| % 60
5 % 84
108
3. %
126
4.+

Question Number : 24 Question Id : 26544816767 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

A train takes 40 seconds to cross a stationary pole. Find the time 1t will take to cross a
platform whose length 15 equal to that of the train.

2,8 Den YB0TT &) R0zrd) TLERE 40 DEW HRS0E. Ben SFGIE DT
TOTEDD TOETIL HT) DoY) FHRS08.

Options :
1 munute

- 1 DN ek

1 minute 20 seconds
1 QAN 20 REOW

1 munute 30 seconds

1 Qadedsd) 30 WEOCD
3. %

1 munute 40 seconds

1 QoD 40 REOD



Question Number : 25 Question Id : 26544816768 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The price of a commodity A 1s twice that of commodity B. If the price of A 1s increased
by 10% and that of B 1s mcreased by 25%. then what 1s the percentage increase m the
total price of the products A and B together?

Sened A @By A8 5o B 0T Bodosben 500, A A8 10% 6050 B &8 25%
2BASLONE, A $H0050 B &é 3He Fndo $ES DHHE® T80 J0b?

Options :

15%
1. %

20%

2.

Question Number : 26 Question Id : 26544816769 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Statements:

DRHEen:

All rings are chains.
o) GoNoeen Frendoen

All chains are round.

&) APenten Ho(Esm
Conclusions:
SwA0Y) edarchin:
I.  All round can be rnings as well as chans.

roolsone ﬁc{)&ég)&, sofoeer, APendoen

II. Some chains not being rings 1s possibility.
©of)) fPeniben Gororen se8EPHMD)

Some rings are round.
B°R)) esoloren Ho(Esm
Options :

None follows.



All follow.
2. ¥

Only I and I follow.

Only II and III follow.
4. %

Question Number : 27 Question Id : 26544816770 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In a class there are 15 students who like chocolate, 13 students like vanilla. 10 students
like neither. If there are 35 pupil in the class how many students like chocolate and
vamlla?

2.8 SBKaE° 15 Hob @mﬂgﬁﬁgm 6883, 13 $0obd 5){:505&5{%@3 3er a@é&é,
10 08 B sS5ED. & $8K86° 35 H0b doeghenod] TESGD, Ierd
BHEE055?

Options :

—
8
| ]

Question Number : 28 Question Id : 26544816771 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

"In this hospital. some nurses don't wear white dress. Some doctors have private
practice and medicines preseribed are of high cost. Therefore. treatment in this
hospital 1s of poor quality”. What fallacy does this argument make?

- —

& @S S0l Sty Bg Biken §BoSH Bod Hob GeEE
3en @ﬂg‘é} 606. 8% shothe Foen S Wonkd. eothdes
& SEoens® JtsEm errHolD. S Tt O (grod eBDHED.



Options :

Fallacy of composition.

- Eri) (0
Slippery slope.
ﬁ“ﬂﬁ“@}

2.

Fallacy of accident.
2885 (g

3. %

Fallacy of division.
Defezdd |50
4. %

Question Number : 29 Question Id : 26544816772 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The Pramana’s 1s used by classical Indian school of logic to prove the existence of
God among the following 1s?

BHD &8 DErHotheH @D s Bo3en, & BIHS T &5@rA0DS
(Daeeasin?
Options :

Arthapatti (Postulation)
@QE’}@ (& csgoéa’):o)

1. %
Upamana (Comparison)
e358rS (EPeytio)
2. %
Pratyaksa (Perception)
s (@3meied
3.4 208 :

Anumana (Inference)

eiard (©ioihd)
4.v



Question Number : 30 Question Id : 26544816773 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

‘Devdatta is fat and he does not eat during the day’. Therefore, Devadatta is eating during
the might. It 1s the case 1n classical Indian school of logic 15

BH88 e Gotrd. Den o8 85%. eothded BH8E Trihen Botrd.
30 (@6 gr8s 88) FESED:

Options :

Comparison

Perception

5 % SRPaTCm

Implication
oo

Verbal Testimony

SR NS
4, % eV
Sub-Section Number : 4
Sub-Section Id : 265448686
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Question Id : 26544816774 Question Type : COMPREHENSION Sub Question Shuffling Allowed
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Question Numbers : (31 to 35)
Question Label : Comprehension



Note: Answer the questions Q.31 to Q. 35 on the basis of the information given below.

KeE: (8ol aabd Sirardo eerdore Q3106 Q. 35 &R Sirgraren
[eaod.

The selling price of mobiles of 5 companies n different years are presented below:
DG D030 5 LoD IBO© ek Esy 68 (308 2 sadod:

SELLING PRICES OF MOBILES
20000 13000
18000
16000 15000
14000
12000 5{1111000 9500 10000
10000 : 00 s 8500
8000 000 DE%JUD
6000 - ap0qy i 11200 4000
4000 I ll 000 22008 B | 2000
2000
o JRLN 1 1y
2019 2020 2021 2022 2023
mA 4000 3500 3000 2500 2200
EB 18000 15000 12000 10000 8500
BC 9500 8000 7500 6000 5000
1D 11000 9500 8000 7500 6000
BE 4500 4000 3500 3000 2000

mA B ECmD mE

Sub questions

Question Number : 31 Question Id : 26544816775 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The selling price of which company model decreased by the highest percentage over
the given period?

DN S5O ) S0 FrctS 00958 O e9eh:HE T80 SNOE?

Options:
A

1. %

2. % B

3. % -
H



Question Number : 32 Question Id : 26544816776 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

If the ratio of the manufacturing cost to the selling price for a model E mobile phone 1s
1:3 in the year 2019 then profit percentage obtained by selling a E model mobile in the
year 20237

2019 056515065 IreS E I0BS 5FQ SO0 55000 9253355 8¢
QAIB 13 ©onS, 2023 0581506 E Ir¢hd IBS Dgonoddo
P SO° &FOQ 72 FeH0?

Options :

15 9
1, % R

2.

Question Number : 33 Question Id : 26544816777 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

In any given vear only if the X company introduced a new mobile phone in the
market, other companies decreased the selling price of at least one of models by more
than Rs. 1600 . In how many years did X company mtroduce new mobile phone m the
market during the given period?

2) N0NSIG0S B, X F 000 ErEd § I0BS P 518,68
DA DES, 388 Son0en, EVN0 2,8 S DE0DH BB &r. 1600 $0T)
503,63 oo, AR 058 )TOS X $0R BD)N TS SrEyE
Eed TNBJO D [Da3d DE308H?

Options :

1. % 4

2. ¢
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Question Number : 34 Question Id : 26544816778 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

I the ratio of the manufacturing cost to the selling price of all mobile phones of
company in the year 2019 is 1: 2 then how many models did the company inecur a loss
in the year 20237

o) 30BS apHer Soird Habo, EFYED 8 MG 2019 & 1:2emd
2023 & IrtsE)p B0 Erobod.

Options :

.
1. ~

3.331

4. %

Question Number : 35 Question Id : 26544816779 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

The highest percentage of decrease by the company model E  over the period 1s
o o <
207200 IFGO E o0 507, Deanchdw 6 ¢S eneb:HE Febo éﬁ?%]iﬁﬂ.

Options :



45

4, %

Sub-Section Number : 5
Sub-Section Id : 265448687
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 26544816780 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Which 1s the best program to use to write a letter?

28 By [ec0ined Hod (B
Options :

Microsoft Word
1.¢

~ Microsoft Excel
2. %

Microsoft Note

Libre Office

Question Number : 37 Question Id : 26544816781 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

Where 1s RAM placed?
RAM o5 60008

Options:

On Hard Disk

On Extension board

On Motherboard



On USB

Question Number : 38 Question Id : 26544816782 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

What 1s one of the primary functions of internet security software 1 relation to your
computer's protection?

Eosjrgtod B sodte e &%ﬂé& @Bn¥) [EHnE DB

Options :

Ensures you never download any mnternet files.

wodtre pH) Od FREE s*Howe Srod

1. %
Removes all viruses and trojans from your system.
HPDHE 38Ren, (SPexyy BHT0b
2. ®
Blocks your access to the internet.
3 % ©oSrerdd wed VR IS eTA)
Enhances your computer's protection against online threats.
888~ Bbode Kol Bogrgth BEmih Dohéod
4.

Question Number : 39 Question Id : 26544816783 Question Type : MCQ Option Shuffling : No
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In the context of data storage. what does RAID stand for. and what 1s its primary
purpose?

Serodsin Dendddinds® RAID @08 adnd? & [@ras erdin?

Options:

Random Access Integrated Disk - Inereases processing speed

- larR 3;’@&& 20008

2. ¢



Redundant Array of Independent Disks - Increases data reliability and performance

teErod Sééé@dﬁjéé}, e300

Regular Array of Inexpensive Disks - Reduces storage costs

Aend) Hairosh SHK00
3. %

Reliable Asynechronous Integrated Drive - Ensures faster data access

Seroae8 BHHoSDD orb SrHHob
4. %
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Who i1s called the father of the Internet?
@oStrerdE Solf JDH?
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| Vinton Gray Cert

Charles Babe;
2. ®

3 % Warren Buffet

Vinton Gray
4, %
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Nagoya Protocol 1s related to...
TRtGTr [Beised B8 HomoHoISH
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Climate change

seEea s éﬁtﬁaﬂ



Ozone depletion

5,855 émé

Hazardous waste

BEREES Sy

Biodiversity
A53De550
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Which of the following 1s not a measure of Human Development Index?
% B%H 0 HH H5rH E}&E’Jﬁj@ H5edERerss sotH?

Options :

Literacy Rate
eBoegs Béx

1. %
Gross Enrolment
YO RPN IS TAY)
2. @
Sex Ratio
Dot Ve
3. ¢ B
Life Expectancy
3G TP G0e0
4, ® %
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Which 1s the source of chlorofluorocarbons?

E6°588° setgyden QB sotron?
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Thermal power plants

63 oprdd 558 spoén

1. %

Refrigeration and Air-conditioning

5 B5DEBe, dowb EoliDoih

Automobiles

2t 3B
3. %

Fertilizers
ayen
4, %
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S and P waves are associated with.

S 508050 P eoen B8 Ho2obodH.
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Earthquakes
=,
| girEoaren

Wind Energy
5w DTG

Floods

DBLen
3. %

Tidal Energy
B 88
4,
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The most recurring natural hazard in India 1s....

20B35PED ERDMT BBA H) (Dargren

Options :
Earthquakes

ae¥ oaieen

Floods
2O 5en

Landslides
S0 SBdhen DBADEE

Volcanoes
E}ﬁxérzﬁg@ﬂm
Ch [+
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Which 1s the First Law University 1n India?

20806° 30EH TgdhER DEDegocho

Options :

Al-Ameen College of law
1. %

Alliance School of law
2. ®

R.K Law College
3. %

Wational Law School of India
4.
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Which of the following organizations deals with ‘Capacity Building Program’ on
Educational Planning?

&m@{ﬁéwégéiﬂmﬁ'ﬂ Bordé &@oﬁ [BErro Homofod ﬁog Ty
Options:
NCERT

1. %

uGc
NAAC

NIEPA
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Which of the following is a Minority Institution?
bive Qe ©e) JogrgE 5o b?
Options :

Punjabi University. Patiala
1. %

Osmania University. Hyderabad
2. ®

Kashmir University. Srinagar
3. %

St. Stephens College. Delhi
4.
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Which strategy involves organizing events and activities to engage the public in
environmental issues?

lepelx DHcires® Sosbden, Stgen E}ééﬁjvoé)meﬁﬁ Beed Havaho

Options :
Non-formal education
eDADHE DKy
1. %
Environmental regulations
oegGes AoDHolEeaen
2. %
Awareness campaigns
OSPRS00 (Hororen
3.¥
Informal education
4% eoNBE0E Dy
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A public mnterest group pursues policies that they believe will provide what to society:

Dnrerls B [Haramren ahifhaErchi), [Herdred pairaPen &5
Derareih S¥aeAarom.

Options :

Lower taxes
SEND w0
- 28) 5IRA))ED

Selective benefits

DohE THY (Horesren

Purposive incentives

ﬁé%ﬁ.ﬁvd&é [BPemten



Collective benefits

arsuorers (Halresaren
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2FD 1 gr5H0
2. %

. 0[P SE 9T 050
3. %

FT%)5S°8 59050

Question Number : 54 Question Id : 26544816798 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes



Correct Marks : 2 Wrong Marks : 0

BOOMTE [2F0TS TOAN TPT Tar§ed °§3r§eb

Options :
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Bedhod
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Correct Marks : 2 Wrong Marks : 0



8OO E3S” OB 1B HBoH0d
a. 50CN50 B0

b. SO0 R TS0

c. €3 )07 TS0

d. DANT*F )TN0

Options :

a,b,cd

b,a, cd

2. %
3w Cab,d

b,c,da
4, ®

Question Number : 113 Question Id : 26544816857 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

7’508 506825 T ared
a. NETS H0OB0e or
b. 0575025 B0 ar
¢. Q"0 B0t e ar

d. @200 PO

Options :

a,b,cd
®

a, e b.d
2. v

c,a,b,d

3. %



c,d, a,b

Question Number : 114 Question Id : 26544816858 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
DN FEN
a. 5T O YD IEH0
b. &°0Y) e3DCEHO
C. D6 HYBNISH0
d. 053020 $59e3D8%0

Options :

a, b,cd
1.4

b,a, cd
2. %

¢.'b;a d

4% a,c,db

Question Number : 115 Question Id : 26544816859 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

BoOTE3S” DTS (B MHBo0B
a. (OO

b. 50050

.23

d. 50300

Options :
a, b, cd

1. %

b,a, cd



d.b,a,c

b,a d . c

Question Number : 116 Question Id : 26544816860 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

BOOTES O B MHO00B
a. 2°JDANAD °25209 NOIADO
b. [ FT eI aFeren
c. DY
d. 2700 89000

Options :

a, b,cd
1.9

5> % ae.d b

3 % a,b,dc

4 % a,docb

Question Number : 117 Question Id : 26544816861 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

SOMTED De3EEN (oG0S DOSed Yo |80
2. S

b. 2>°(155010

c. 757,008

d. 5aD§e3

Options :



Question Number : 118 Question Id : 26544816862 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

BCOTTED Ao @I

A. 250D

B. 226550 o) W50

C. @350 @30 230000
D. 83529065 DI VP D

Options:
a, b dc

1. %

c,b,d, a
2.9

3. % c:d:a:b

a,c,d b
4. %

Question Number : 119 Question Id : 26544816863 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



T8 HOFTHHVO (B0

a. 0. o). O

b. 2. OD. 0. €9° )T

c. WOV T8
d. 57900 DT OTH)

Options :

c,d b, a
1. %

d, b,c, a
2. ¥

b.c,a.d

4 % a.i.c.b

Question Number : 120 Question Id : 26544816864 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

2@y §55806S HOTITTO (800
a. 0ed HOT YW

b. 5065 DO YIS

c. e )E HOT AW

d. D3P DO NG

Options :

c,d, b,a

1. %

a, b,cd

2. ®

c.d.ab
3. ¢

a,dcb
W



Question Number : 121 Question Id : 26544816865 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
() 2> 8D 2065 DaFH0DBEeTH0 0BT LaFAMT &OEN0O
(o) 30065 DsI25) a0 28) BN 2rOSITCH T3

Options :

- (Q) () DOGBT OB SD

RN (o°) DO OB 5°Y

() OSBRI () ABIA 5°¢D
3. %

(D) QOO (W) DBIHO
4, %

Question Number : 122 Question Id : 26544816866 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

() 20029 (HOTTEN 5P OHTE T2 00 (10T O50¢3
(oF) 98 SPOYR ATPEE ST NLTRE (2PTI5dD §30 Deb
Options :

() (03°) BOT OB 5°)

(Q) (o3°) BOGT® OB dad
2.9

L (Q)OTIO (3°) OB 52D



(Q) OBXA 5°¢D (o) DB

Question Number : 123 Question Id : 26544816867 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

() e3¢DAE Qe e300 )50 27|50
(o) 86900 PID@R) OO0 GO 9505 YT, DN
DABLOVIIRF VOO Téb

Options :
() (o) BOGT OB 5°6Y)

1. %

. () OBIA (o) ABIA 5°¢D
2.

(Q) () BOGT OB I

3.¢

L (Q)OTAG 5°¢h (2°) DB

Question Number : 124 Question Id : 26544816868 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

(D) SOAE EDe 250 POEBTS 1DETHES 2N |HTIFTO)
Ds85000 RO HE0THEFBCD
(3F) DOBTHE0D) VeI IFOB DT eSrEs B0

Options :

(Q) (03°) DO OB 5D
1. %

() (o) DOT OB S



(D) OBIA () HBIO D
3. ¢

(D) OBIO 5°C (W°) DT

Question Number : 125 Question Id : 26544816869 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

() BN T SEGEFOR N0 3§55 DODT AN 2
(o) BN 5500 ER D00 Y DONTOTR) ©eDNO0IEI0TI

Options :
(D) () DOGBYT OB S 5°)
- (Q) (03°) DO OB dad

s x (Q)OTIA () HTIO 5

(D) OBIO 5°CD (W) AT
4, ®

Question Number : 126 Question Id : 26544816870 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

(D) BODP, IS S’ DITVITID (bSO TBCH

(33°) SOOI DTV (De550HO BED 5°20¢3
Options :

(D)OTIA (W) DBHA ¢
1.¢



. (Q) (03°) DO OB S
(Q)(o7°) DO OB )

() DBIA 5°¢N (°) DB
4, %

Question Number : 127 Question Id : 26544816871 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

() BONMHFALS e )T | VGO0 FrhEro
(37) [0 E6300 SHeINIT P53 T LYENRT 205 635690 O
AN

Options :

(Q) (o) OBIA

1.¢

(D) (0°) DBIA 3°¢H
2. %

(Q) ABIA (°) DB 52D
3. %

(Q) OBIO 5°CN (o°) DT
4, ®

Question Number : 128 Question Id : 26544816872 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
() BN 5o O SOSTOSE D NI a0 5 500

(o) @D ORTaTeh 56 BP0 DY ed THEI0TIeh



Options :

- (Q) (o) OBIE

(Q) (o) OTIO °¢H

2.V

L% (Q)ITID (3°) DB 5D
() OB 5°C (o°) DT

4, ®

Question Number : 129 Question Id : 26544816873 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

(D) DV $5065 77150 HONED T HODSHOA
(o5°) 15923€0 e3CH00IEFHEI0 Teh

Options :
(D) (°) OBIA

1.4

(D) (o) SBIA 5°¢H

Question Number : 130 Question Id : 26544816874 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



(Q) @005EF(N) HoTreOD Aol 6 R (1oTre0erd
(37) S RPOGGI0STED T E ¢ HO0D SrT Ba) 90, )T 0w S2E3

Options :

(Q)OBIA (@) STIO 5D

1. %
(D) (o3°) BOGT OB
2. v

(D)(o7°) DO OB 5°a)
3. %

(Q) OB 52D (w°) DT

Question Number : 131 Question Id : 26544816875 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

&3 1800573 236508505

a. DBONNO i. 90883V

b. & ODNOT O Hen i. AT 0O TR

€. 0”0 3056 iii. 2ed 072

d. P0NT O iv. Qa0 80682 or
Options :

1.« a-ii,b—i, c—1iv, d-iii

a-i, b—ii, c—ii, d-iv
2. %

3 % a-iii,b—i,c—iv, d-1ii

4% a-ii, b—iii, c—iv, d-i



Question Number : 132 Question Id : 26544816876 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

&2 180O°¢3 2365 NGOG

a. 05225300 i 3 —88-a) — )

b. @@ T )N ii. €a0))))

C. 2,050 B TDIED  ii. DOE

d. 5)d0o&en iv. €5 — €83 2, — &
Options :

a-ii, b—i, c—iii, d-iv
1. %

5 a-ii,b—i, c—ivy, d-iii

3 % a-i, b—iv, c—ii, d-iii

4% a-ii, b—iv, c -1, d-iii

Question Number : 133 Question Id : 26544816877 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
2900 IR

a. @0 (3078 )00y i QPR

b. DCOBT N (S5 ) ) ii. (FD 3B doifore

c. @) SOR" (67 oD iii. (10N3E3 © 8 ) 3 TroH e

d. DG (BBD)) iv. DOETE) fTaredd el
Options :

a-ii, b—i, c—iv, d-iii
1.¢

a-1, b—ii, c—iv, d-ii



a-iv, b—ii, c—iii, d- i

a-ii, b—1i,c—iv,d-i
4. %

Question Number : 134 Question Id : 26544816878 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

&: 1800 3R 2D H0G

a. 2PN BTN N i. DDA fomre S0

b. BeN 2PAIANOD Araredso i DT R T T2

¢. BV DETETENEd 0 iii. 50N0PE) DeF )T

d. BN AN TETIY iv. 0°ONA §Yn50s3r0
Options :

a-i, b—ii, c—iii, d-iv
1. %

a-iv, b —iii, c —ii, d- i
2. %

3 % a-ii,b—iv, c—iii, d-i

a-iv, b —ii, c —iii, d- i
4.

Question Number : 135 Question Id : 26544816879 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

&2 1800a°¢3 23edHGH0OG
i AR5 i 59 s aren
b. Qo365 G0 ii. 49O O ONEED
C. 33509530 ii. 5769 §23¢9S30

d. SO ENCD iv. PHE23C350



Options :
;w2 b—i, c—iii, d-iv

5 % a1, b—ii, c—iii, d-iv

a-ii, b—i, c—iv, d-iii

4 a-iii, b—iv,c—i, d-ii

Question Number : 136 Question Id : 26544816880 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

N AN — EYEIDEREN)

o

a. PP OIS i. DO €93 0HO| e
b. 2)30% :5)TE0 ii. €557 633500 53¢3
c. FODETIAM ii. €€°¢h Hgwe BG
d. FI0°(e3oI°08€55530 V. 23R BPOHODS
Options :
a-i, b —iv, ¢ —iii, d- i
1. %
L x  a-ii,b—iv, c—iii, d-1i
a-iii, b—i, c —ii, d- iv
3. ¢
a- iv, b —ii, c — i, d- iii
4. %

Question Number : 137 Question Id : 26544816881 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



&2 180HTE3D 23305505

a. 0”8 000 ed i. VPO DD

b. YOI DD ii. TP 0CHS0

c. O NOQTONENCY iii. 0 §00) "0 €D

d. 22300765 3 0 CD) iv. °A000
Options :

1 % a-i,b—ii,c—1iv, d-iii
5w A b—iv, c—iii, d-ii
a-ii, b—iii, c—iv, d-i

4 % a-ii,b—iii,c—i, d-iv

Question Number : 138 Question Id : 26544816882 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

&2 80O 3 2350 BH0G
2. O OO i. &850
b. @ QD050 ii. P30
c. @830 iii. 539
d. S’EJHE iv. 080
Options :

1. % a-ii,b—i,c—iii, d-iv

5 « a-ii,b—i, c—iv,d-iii

3 % a-i,b—iv, c—ii, d-iii

4 % a-ii, b —iv, c —1i, d-iii



Question Number : 139 Question Id : 26544816883 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

& 180073 236505 H0B
2. DOAT DI NZFYEN i. S (6505
b. SPSAOOBBD ii. 020D
C. VB DD TR ii. TP 270208

d. D0 VELITT ° e iv. @giioe
Options:
1% a-ii, b—i, c—iii, d- iv

5 a1V, b—iii, c—ii, d- i

a-i, b—iv, c—ii, d-iii
3. %

a-i, b—ii, c—iv, d-iii
4. %

Question Number : 140 Question Id : 26544816884 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

%1800 e3Q 23680805

a. @0 ATrITI0 i. §0°¢8 OPeNE )09

b. D0O ii. (10635 0522

c. 02T artdo|éb i, ). D . AD[2FE S0

d. @COALLTL T QO 0TEN v, WENETO T UPCDEIT )
Options :

a-ii, b—i, c—iii, d-iv

5 % a-i, b—iv, c—ii, d-iii



3 % a-i, b—iv, c—iii, d- i

a-ii, b—1i, c—iv, d- iii
4.

Question Number : 141 Question Id : 26544816885 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

““HE” ©F0 DV TOAD Sdowed

Options :
& &
23

1.8

§°C8:5¢350¢3 0D 0DT))

2. ¥

§ WL Halele

QD BIG0 |DTTODE
4, #

Question Number : 142 Question Id : 26544816886 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

27&5e506Y 15 &5 HS <0
Options :

3400370 O SO
1.+



€94 0 DB L0

L &9 TS D 0

TR0 DO S0

Question Number : 143 Question Id : 26544816887 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
223099 10655050 B 23°2eD
Options:

(2000, DO

LoD, S
2. ¥

ST, 83y %o

SeN, Soow

Question Number : 144 Question Id : 26544816888 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

BenthH eyt 5065 BLTNHES Eye3asd

Options:
1.4



23005 D5

VN VNV T
2. %
BHSBDO0GSI D
3. %
0°230°23 DVOCMCD
4. %

Question Number : 145 Question Id : 26544816889 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0
‘07250028 002D FeDO Yol &7T) 88 5 Grdone

Options:

A0 O

1.4

Question Number : 146 Question Id : 26544816890 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0



“2 BN BVRIBO | GSIE! AR 65 DN &
S AIOF I WONZIAE | TONEIIN G GG IGNE T - &
DAY, DOTIZON0 R (H:580DH TR

Options :

e300 5ed
1. %

e30(Q D38

2. ¢

S0(Q (2923

3. %

8o BOHOTE
4, ®

Question Number : 147 Question Id : 26544816891 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

DAED K ‘Do) ENed’ I DT °
Options :
3O Sy

1. %

Q). D°0°ONEI DV

2. ¥

DO O"BeTHT)
3. %

SN EOFTOC DB2CI0D S

4. %



Question Number : 148 Question Id : 26544816892 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

v b a
B2)N558 ST
Options :

e cEeraren

EA LAV DY)
2. ®

PNVFATRAISY
3. %

QOO 237 a7en
4. &

Question Number : 149 Question Id : 26544816893 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

AT BT AVDISVIN TR T TA R I PA T {ev e
Options :

SN

Qo))



Question Number : 150 Question Id : 26544816894 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes

Correct Marks : 2 Wrong Marks : 0

359 )MNETS D BONOWERE BoTANOE DsTEB0DS
FARA AR

Options :

SIS @SOS

1. %

230 @:3@3;?5
2. ¢
- Q2320 V80N o

Q20 DTN er
4, %





